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Part A: Radicals [ }

1. Convert each expression from exponent form to radical form (or vice versa).
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2. Select the expression equivalent to 3/5_2 -3/5_5 .

1 18,
é)”{”g/ B).57
Copmmen vniston ce ptionn T Chdnds gt f&é‘tﬁf‘w@”m{ﬂg ’XWL? Pl ?fowgg- Yy
with Cntiman et - cm‘f""”fmﬁ o LK ponent Lot fon ik Pt Aroebe

ﬁw gws Wu{ rw'{:&-

3. For each number, select whether the product of that number and~/6 would result in a rational or

irrational number. .
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4. For each expression, select whether the sum is rational or irrational.
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Part B: Radical Functions [F-1F.4, F-IF.7, F-BF.3]

5. 1 .
Consider the function f(x) =x?. Graph the function, £

state the domain and range, and describe the end
behavior.

Domain: O -‘.f:;; X
Range: O£ ‘»j

End Behavior: ofy X2 o0, 3 -3 o
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Part C: Solving Radical Equations |A-REL2]

6.  Solve the equations, showing your work and justifying your steps.
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7. Cirele the step that contains the first mistake Sarah made, then solve the eqUaTIo. vt
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